	1. How many chinchilla fur rodents can be expected from the following cross?

C cch ....x ..cch cch .... 

	2. Cross a male that is homozygous for chinchilla fur color with a female that is heterozygous for chinchilla and extremely dilute fur. What is the phenotypic ratio in this cross?

	3. Cross a male that is homozygous for albino fur color with a female that is heterozygous for chinchilla and albino fur. How many chinchilla fur rodents can be expected?

	4. Cross a male that is heterozygous for chinchilla and albino fur color with a female that is heterozygous for full color and extremely dilute fur. How many chinchilla fur rodents can be expected?

	5. Cross a male that is homozygous for extremely dilute fur color with a female that is heterozygous for full color and albino fur. If there are 1000 offspring, how many rodents with extremely dilute fur can be expected?

	 Directions: Using the given information solve the following multiple allele problems.


SBI 3U INCOMPLETE DOMINANCE WORKSHEET                                                There are four alleles for the trait of fur color in a species of rodent. The dominant - recessive relationships are as follow:

C > cch > ce > c 

	Phenotype
	Possible Genotypes

	Full color fur
	C C
	C cch
	C ce
	C c

	Chinchilla fur
	cch cch
	cchce
	cch c
	

	Extremely dilute fur
	cece
	ce c
	
	

	Albino (white) fur
	c c
	
	
	


ABO Blood Typing in Humans
· There are three alleles for human blood typing A, B and O. 

· The A allele is not dominant over the B allele. Neither one can suppress the expression of the other. Therefore they are said to be codominant. 

· However. both alleles A and B are dominant over the O allele ------- > A = B > O 

	We express the relationship by using the following symbols: 

· Allele A = IA 

· Allele B = IB 

· Allele O = iO 
	Phenotypes
Possible Genotypes
A

IAIA, IAiO
B

IBIB, IBiO
AB

IAIB
O

iOiO


	Therefore: IA = IB > iO
	




Note the possible genotypes for each of the human phenotypes as shown above. Complete the following crosses:

	1. IAIA x IBiO
	2. IAiO x IBiO

	
	

	3. IAIB x iOiO
	2. IBIB x IAiO

	
	


